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PUBLIC ADMINISTRATION (In all Mediums)
Paper: Development Administration (With Special Reference

to Punjab)

Time Allowed: Three Hours] [Maximum Marks: 90

Note :—(1) Attempt five questions in all. Question No. 1 is
compulsory.

(2) All questions carry equal marks.

1. Attempt any nine short answer types questions in 25-30 words

each:

(i) Define Development Administration.

(n) What do you understand by Administrative Development ?

(iif) Who is regarded as father of Development Administration ?

(iv) When was NITI Aayog formed ?

(v) Give any four features of a developing country.

(vi) What is a Welfare State ?

(vii) Write any two constitutional provisions related to SC/STs.
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(viii) Give two objectives of planning,

(ix) Who is responsible for planning at State level ?

(x) Give four features of a Government Company,

(xi) Give four examples of a Government Department.

(xii) Give two functions of Union Ministry of Health and Family
Welfare. 9x2=18

UNIT—I

2. Give the nature and scope of Development Administration. 18

3. Discuss the features of Developed and Developing Countries.
18

UNIT—II

4. Discuss the provisions of social welfare in India. 18

5. Discuss the composition and functions of NITI Aayog in India.
18

UNIT—III

6. Define a Public Corporation. Discuss its features, advantages and
disadvantages. 18

7. Discuss the role of Public Enterprises in Economic Development
of India. 18
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UNIT—IV

8. Discuss the role of Union Ministry of Health and Family Welfare
in, Development. . 18

9. Write an essay on role of Voluntary Sector in Development.
18

(l)

(2)

1. ^tf.^ erg ^xTT "9^ ^fri 5c^ ^^T ^T r̂R 25-30

f % :-

(ii) y^imPt^ f^RT % 3TFT ^TT ^TR?^ Fl ?

(iii) R<t>i^ ^TRPT % f^rr ^ r̂ r̂ f%^ ^PTT ^ncfi t ?

(iv)

(v)

(vi) 'Mr^lui'M'D .TT^T ^IT t ?

(vii) .̂
fef^f I

(viii) 4l«HI

(ix) TT^T WT ^R iil«HI % %?; ̂  |5| ̂ <|< t ?

(x) ^ y<+l(1 =hH-fl %
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«

3. fa*Rid r̂r R<t>w^d ff ^ c=r̂ rt ^t î ^i 18

4. *rrTrf f umiRH ^^TM yieiyuli ^R ^^ ^i 18
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(xi) ^

(xii) W^ST sfk yR<lK

9x2=18

2. f̂ FRT y^imi ^t " 9 " ?fW . f^r-£t?r «Pt fef^fl 18

5.
18

T— III

6. trip yi4«lPl<=h PRFT ^t HR l̂l̂ ld ^ft.l 1fl% cT l̂t, eTHTf

^raf ^ft i 1 8

7. *TRcf

>^l 18



r—IV

8. fero ^f FfT^zr <TCT HR«iu *^iui ^ ^
18

9. - « w « f e««t> sfa t̂ r̂ ^ Rsr e r f I 1 8

^JH'HcS y d s i ' H S of

feoPH 31 =pff off

(iii) feol'H ^W'Hrt ^ flra1" ^ W f^B" (cXHrt

(iv)

(v)

: — (1) Hrfow fw UH IJH?) orti yH?r OT^" 1 wmft

(2) H"% IJH?>T % >5?5r a^j'tt^ zrsi

1. sret ?f g^ f5^" vp?> orti u%or v[H?r H1" f^ 25-30

(vi) oTfowi'ibJidl Wrf oft t" ?

(vii) >>frr. lft./>^7T. ^t. TTO HafMrf foT^ ^ Hf%TTWHHoT

(viii) WHrt1 ^ € §^F fetfl

(ix) ^rT- UT3" §" Wrl(V WUt ofe

(x)
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(xi) fSof Hdol'dl fesi'dl % W^ Qti'Odi fotfl

(xii)

9x2=18

2. f^oTH tfHTH^ St y%Ht »f̂  -feft-î  fe$ I 18

3. feodHb ^^ feoCHHlw ̂ TF % <£^£i ^t tldtl1 0(^1 18

4. S11̂ ? î B HHrfrToT offe»fr5 ^ IĴ UW §y^~ tJdd1 oftl 18

5. sf'dd f^ ?)tHt >JfTH3T ^ HdtltS1 *>f3" oi'drl' Ft" rddt)1 5^1

18

6. , fSoT H7i3or f?)31K § ufe^ffe oft I

oftl 18

feof'H f^W r)6do( P(So(iui ^
= —

18
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8.

off"! 18

9. ferH f^g H^Pi?dd ^3^ st FfHBT §ira~ ^tf fe^i 18
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